1T0e€)1p Series: [ 7. 12. 20. 9. 13.], erreur Mk 0 = 296.73521421 ]'-I'Bndp Series: [ 7. 12. 20. 9. 16.], erreur Mk 1 = 415.437475788
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Tergp Series: [ 7. 12. 20. 9. 18.], erreur Mk 2 = 434.965170496_Temp Series : [ 7. 12. 20. 9. 5.], erreur Mk 3 = 454.011641968
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ir(e)rgp Series: [ 7. 12. 20. 9. 17.], erreur Mk 4 = 462.309694784_ Temp Series : [ 7. 12. 20. 9. 8.], erreur Mk 5 = 462.8156
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Te(r)np Series: [ 7. 12. 20. 9. 11.], erreur Mk 6 = 466.26215972 _Temp Series : [ 7. 12. 20. 9. 2.], erreur Mk 7 = 467.686916288
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